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Question Number : 536 Question Id : 485584636 Question Type : MCQ Option Shuffling : No Is
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Free Hand


The enlarged scale is represented by

1. 1:30

[ ]

.2

. 1:100

Lia

4.100:1

Options:

4855842541. 1
4855842542. 2
4855842543. 3

4855842544, 4

Question Number : 536 Question Id : 485584636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options:

4855842541. 1
4855842542. 2
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4855842544, 4
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Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

1s not an Axonometric Projection.

1. Dimetric Projection

I

. Isometric Projection

2

. Perspective Projection

4. Trimetric Projection

Options:

4855842545. 1
4855842546. 2
4855842547. 3
4855842548. 4
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Options:

4855842545. 1
4855842546. 2
4855842547.3

4855842548. 4
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A triangular pyramid has

1. four triangles

[ ]

. three triangles

. four rectangles

L]

4. three rectangles

Options :

4855842549. 1
4855842550. 2
4855842551. 3



4855842552. 4
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e AyaeR ks d
1. IR By gd g
2 TR E
3. ¥R 3194 gl §
4. dH AT EIAIE

Options :

4855842549, 1
4855842550. 2
4855842551. 3

4855842552. 4
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A student draws an 1sometric projection of a ball of diameter of 80 mm. It's diameter 1n 1sometric projection

will be ;
1. 80 mm
1 64 mm
3. 120 mm

4,40 mm

Options:

4855842553. 1
4855842554. 2
4855842555. 3

4855842556. 4

Question Number : 539 Question Id : 485584639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

% B A T8 80 Ho o 079 a7l Tie &1 THUNATY Y& 8701 | THuREmiy R & 59 oy
Ul

1. 80 ffo o
64 fHo o
3. 120 fRo dlo
4,40 ffo 7o

[ ]

Options:
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4855842555. 3

4855842556. 4
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The two angles which are used to draw the isometric scale are

1. 100°, 200°

[

. 45°, 90°

. 307, 45°

L

4. 30°, 120°

Options:

4855842557. 1
4855842558. 2
4855842559. 3

4855842560. 4
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Options:

4855842557. 1
4855842558. 2
4855842559. 3

4855842560. 4
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Choose the correct statement for the axis of the given figure:

ISOMETRIC PROJECTION

1. Perpendicular to both H.P. and V.P.
2. Parallel to both H.P. and V.P.
3. Parallel to H.P. and perpendicular to V.P.

4. Perpendicular to H.P. and parallel to V.P.

Options:

4855842561. 1
4855842562. 2
4855842563. 3
4855842564. 4
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Options:

4855842561. 1
4855842562, 2
4855842563. 3
4855842564. 4
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Choose the correct statement, based on the given figure:

* i F
o
& =)

ISOMETRIC PROJECTION

1. A hexagonal prism 1s resting on its base on HP.
2. A hexagonal pyramid is restmg on its base on H.P.
3. An iverted hexagonal pyramid is resting on H.P. keeping its axis perpendicular to V.P.

4. An mverted hexagonal pyranud is resting on H.P. keeping its axis perpendicular to H.P.

Options:

4855842565. 1
4855842566. 2
4855842567. 3

4855842568. 4
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Options:

4855842565. 1
4855842566. 2
4855842567. 3

4855842568. 4
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Choose the correct statement based on the given figure:

ISOMETRIC PROJECTION

1. Sphere 1s resting on a pyramid.

[ ]

. Triangular prism 1s resting on its long edge on H.P.

. Axes of both the solids are vertical.

(%]

4. Axis of the prism 1s parallel to both H.P. and V.P.

Options:

4855842569. 1
4855842570. 2
4855842571. 3

4855842572. 4
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Comprehension MCQ
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Options:

4855842569. 1
4855842570. 2
4855842571.3

4855842572. 4
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Question Key Details :

Key Value

Comprehension MCQ

Choose the correct statement based on the given figure:

[

50

52

ISOMETRIC PROJECTION

1. Axis of pyramid 13 perpendicular to H.P.

[

. Axis of prism is perpendicular to V.P.

L

. Axis of pyramid 18 perpendicular to V..

4. Axis of prism 1s parallel to H.P.

Options:

4855842573. 1
4855842574. 2
4855842575. 3
4855842576. 4
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4855842573. 1
4855842574. 2
4855842575. 3

4855842576. 4
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Choose the correct statement for the given figure:

"

ISOMETRIC PROJECTION

[

. A pentagonal pyramid is resting on its base on a square prism.

| )

. Two square faces of the prism are parallel to H.P.
3. Two rectangular faces of a square prism are parallel to V.P.

4. A hexagonal pyramid is resting on its apex on the rectangular face of a prism.



Options:

4855842577. 1
4855842578. 2
4855842579. 3
4855842580. 4
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4855842577. 1
4855842578. 2
4855842579. 3

4855842580. 4
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Comprehension MCQ

It 15 the distance moved by a nut on the bolt in axial direction i one complete rotation
1. Root
2. Flank
3. Crest
4. Lead

Options:

4855842581. 1
4855842582. 2
4855842583. 3

4855842584. 4
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4855842583. 3

4855842584. 4
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In the standard profile of a B.S.W. thread, the value of Actual depth 'd' 15 . (where P = Pitch)

1.d=0.96P
2.d=0.64P
3.d=054P
4.d=0.86P

Options:

4855842585. 1
4855842586. 2
4855842587. 3
4855842588. 4
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Options:

4855842585. 1
4855842586. 2
4855842587. 3
4855842588. 4
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Square thread profile has thread angle equal to
1. 60°
257
3.45°
4. 90°
Options:
4855842589. 1

4855842590. 2
4855842591. 3



4855842592. 4
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Options :

4855842589. 1
4855842590. 2
4855842591. 3

4855842592. 4
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If "d" 1s the nominal diameter of a bolt. then its threaded length will be

1.2d+6

[

.

.15d+3

LN

4.084d

Options:

4855842593. 1
4855842594. 2
4855842595. 3
4855842596. 4
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Options:

4855842593. 1
4855842594. 2
4855842595. 3



4855842596. 4
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In the top view of a vertically placed Square nut, the threads are shown by drawing
1. two thick circles
2. one thick circle, one thin broken / ncomplete circle
3. one thin circle, one thick broken / meomplete circle

4. two thin cireles

Options:

4855842597. 1
4855842598. 2
4855842599. 3

4855842600. 4
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Options:

4855842597. 1
4855842598. 2
4855842599. 3
4855842600. 4
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If'd" 15 the nominal diameter of a Bolt on which the Plain washer 1s to be used. the thickness of the plam
washer will be

1.d/16
2.d/8
3.d2
4.di4
Options :

4855842601. 1

4855842602. 2



4855842603. 3

4855842604. 4

Question Number : 551 Question Id : 485584651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

e foreh e o1 A o o & o9 R ©F dfR o i e e, 99 o R g e

il

1.d/16
2.d/8
3.d2

4.d/4

Options:

4855842601. 1
4855842602. 2
4855842603. 3

4855842604. 4
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In the Conventional representation of an external V-thread, a thick circle n its side view represents

1. Crest
2. Root
3. Flank

4, Pitch

Options:

4855842605. 1
4855842606. 2
4855842607. 3
4855842608. 4
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4855842605, 1
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4855842608. 4
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Threaded length of metal end side m a Plain stud of diameter 'd = 20 mm' will be
1. 20 mm
2,40 mm
3. 46 mm
4. 50 mm

Options:

48558426009. 1
4855842610. 2
4855842611. 3

4855842612. 4
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48558426009. 1
4855842610. 2
4855842611. 3

4855842612. 4
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Identify the given fastener...

1. Plain stud

2

3. Collar stud

. Stud with square neck

4. Rivet

Options:

4855842613. 1
4855842614. 2
4855842615. 3
4855842616. 4
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Options:

4855842613. 1
4855842614. 2
4855842615. 3

4855842616. 4
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Key Value
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This fastener can be used in shoes.

1. Nut

[ ]

. Bolt

. Stud

Lia

4. Rivet

Options:

4855842617. 1
4855842618. 2
4855842619. 3

4855842620. 4
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4855842620. 4
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The thickness of the head of the Flat head rivet is . (where 'd' 1s the rivet diameter)

1.0454d
2.054
3.025d
4.0.7d

Options:

4855842621. 1
4855842622. 2
4855842623. 3

4855842624. 4
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Options:

4855842621. 1
4855842622. 2
4855842623. 3
4855842624. 4
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Padding in an Open Bearing helps
1. m lubrication
2. in easy rotation

. i providing stability to the sole

L]

o

. 1n fixing Nuts and Bolts

Options:
4855842625. 1
4855842626. 2

4855842627. 3
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4855842625. 1
4855842626. 2
4855842627. 3

4855842628. 4
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Comprehension MCQ




Bush Bearing has a CSK hole to

1. pour water

[ ]

. pour the lubricant

Lia

. fix Bush within the body

4. msert foundation bolts

Options:

4855842629. 1
4855842630. 2
4855842631. 3
4855842632. 4

Question Number : 558 Question Id : 485584658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

qUeaTHcsk s BITEl
1. It STeH & farg
2. fsihe S & fag
3. SIST H g @1 3T STa- & o1y
4. T3S diee B 3ig SlaH & fau

Options:
4855842629. 1
4855842630. 2

4855842631. 3



4855842632. 4

Question Number : 559 Question Id : 485584659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A machine part which is used to connect rigidly two rods, whose axes are collinear and subjected to axial
force.

1. Bolt and Nut
2. Stud
3. Bush

4, Cotter

Options:

4855842633. 1
4855842634, 2
4855842635. 3
4855842636. 4

Question Number : 559 Question Id : 485584659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




T 1 9 o1 O €1 B9, o a1 U Vi € &R 3faf e Fefi e &, 31 Aot W sited &
e v o o g

1, S IR e

2.¥%s

N
4R

Options:

4855842633. 1
4855842634. 2
4855842635. 3

4855842636. 4

Question Number : 560 Question Id : 485584660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Number of Cotter(s) used i a Sleeve and Cotter joint 1s/are
1. Two
2. One
3. Four
4. Six
Options :

4855842637. 1
4855842638. 2



4855842639. 3

4855842640. 4

Question Number : 560 Question Id : 485584660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

TG IR Diex 98 H diex o Tl gl
1.4
2.Up
3.9R
4

Options :

4855842637. 1
4855842638. 2
4855842639. 3

4855842640. 4

Question Number : 561 Question Id : 485584661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




This joint has one 'Eve end' and one 'Fork end',

1. Turnbuckle

[ ]

. Sleeve and Cotter joint

. Gib and Cotter joint

s

e

. Flange joint

Options:

4855842641. 1
4855842642. 2
4855842643. 3
4855842644. 4

Question Number : 561 Question Id : 485584661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

SH SIS 8 U 313 R SR GHv1 Bid [BRT 6
1. eHadad

2. TG 3R Plex IS
3. g SR Tl ol
4, Toid oIS
Options:
4855842641, 1

4855842642. 2

4855842643. 3




4855842644. 4

Question Number : 562 Question Id : 485584662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
For joining two pipes. 15 used.

1. Flange Joint

[ ]

. Turnbuckle Joint

. Gib and Cotter Joint

L]

4. Sleeve and Cotter Joint

Options:

4855842645. 1
4855842646. 2
4855842647.3

4855842648. 4

Question Number : 562 Question Id : 485584662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




AURUIPIGeA S AU SR fpar e gl
1. Telo oS
2. THIgEA HIS
3. fiig IR Picx wils
4, 9 SR P TS

Options:

4855842645. 1
4855842646. 2
4855842647. 3

4855842648. 4

Question Number : 563 Question Id : 485584663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The Turnbuckle consists of an elongated metal tube which is

1. eylindrical in shape and has conical ends

[ ]

. rectangular in shape and has tapered ends

L]

. eylindrieal in shape and has rectangular ends

4. rectangular in shape and has square ends

Options:
4855842649. 1
4855842650. 2

4855842651. 3



4855842652. 4

Question Number : 563 Question Id : 485584663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

cHadeR H Sl YT P Afeienl t
1. Pl § daBR IR Y 2P & SR & 8id &

TPl F SR R AR RS T T

TPl FaTPR IR AR SaeR e §

4. TP ATATDR 3R R iR §1d §

[ ]

LS

Options :

4855842649. 1
4855842650. 2
4855842651. 3
4855842652. 4

Question Number : 564 Question Id : 485584664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Identify the correct statements for the use of Continuous thick line:

A Tt 15 used for extension line.

B. It 15 used for dimensioning.

C. It 1s used as a boundary line of the drawing sheet.
D. It is used for visible outlines of object.

E. It 15 used for hatching (sectioning).

Choose the correet answer from the options given below:
1. A and B only

2. Cand D only

I

faa

. C and E only

4. B and C only

Options :

4855842653. 1
4855842654. 2
4855842655. 3

4855842656. 4

Question Number : 564 Question Id : 485584664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




gad Aie! A3 & UaiT & YR U, Ya! HYUF gedli-u:

A, 3 fowR W@ & fou v fear sran 2|
B. Y 34 341 & ow v foear oiran g
C. STET Ui BT ar3S] A1g & fo1d WanT faoar 741 3|
D. Gl 1 TRY TGN P {10 WU foban irefl §|
E. 34 eiHn & fau g fear omar g
Hid fau U [l | U 9el 3 &1 944 (il .
1. Had A X B
2. Had C IR D
3. Pad C ARE

4. HaAB IR C

Options:

4855842653. 1
4855842654. 2
4855842655. 3
4855842656. 4

Question Number : 565 Question Id : 485584665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




According to the given figure, identify the correct statements:

AL Axtis 13 perpendicular to H.P.

B. Axis 1s perpendicular to V.P.

C. Axis is parallel to both H.P. and V.P.
D. Circular faces are perpendicular to V.P.
E. Circular faces are parallel to V.P.

Choose the correct answer from the options given below:

1. Aand C only

b

.B and D only

. Cand D only

L]

4.D and E only

Options :

4855842657. 1
4855842658. 2
4855842659. 3
4855842660. 4

Question Number : 565 Question Id : 485584665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

ﬁiﬂIFEfaﬂﬁiﬁﬂ?*QiéﬁfﬁiﬁiEﬁTIHEEﬂﬁ?q;

A Y TI U & dEad e
B. 3& d1.0. & araad gl

C. 31&f U1 3R 4141, & FHARR B
D. JUIPR Bad d1.Ul. & Tiaad ol

E. JUIBR B 91,41, & SR © |

i
x

IédMETRIC F'HDJECTIDN
=i fu T famedl § 9 el 3R &1 70 fohfo .

1. Fad AR C
2. $9d B AR D
3. %adc ARD
4.%dd D IR E

Options:

4855842657. 1

4855842658. 2

4855842659. 3



4855842660. 4

Question Number : 566 Question Id : 485584666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Identify the correct statements for the given figure:

A. Axes of both solids are parallel to H.P.

B. Axis of the circular slab 1s vertical.

C. There are Eight rectangular faces.

D. The 1sometric view of the top surface of the eylinder will be an ellipse.
E. Prism 1s resting on its long edge on H.P.

Choose the correct answer from the options given below:
1. A and B only
2. C and D only
3.B and E only
4. B and D only

Options:

4855842661. 1




4855842662. 2
4855842663. 3

4855842664. 4

Question Number : 566 Question Id : 485584666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




== graneivd Il SYH] &I UedI-u:

A. G B9 SHTpiaal & 3igf Ua. 4l & THATRR ¢ |

B. JUIER Wid $1 318 HER & |

C. SOH 315 AMTATHR HAS o |

D. 90 & HUN| Fdg B1 GHYNHATT €7 U &Hgd gHTl|
E. fUsa tadl W o g AR R g

<5

i fau e fasedl & ¥ Fel SR &1 =5 fhforg .
1. $ad A 3R B
2.%dd C 3R D
3.%d0 B R E
4. %ad B AR D

Options :

4855842661. 1
4855842662. 2
4855842663. 3

4855842664. 4

Question Number : 567 Question Id : 485584667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

Identify the correct statements for a Square Headed Bolt:

A. Square headed bolt has a square cross sectional shank.

B. Square headed bolt 1s generally used where head of the bolt 1s to be accommodated in a square recess.
C. The thickness of the head of the Square headed bolt is same as that of a Square nut.

D. Radius of the chamfering arc 1s 2d. (d=nominal diameter of bolt).

E. Square headed bolt has internal V-thread.

Choose the correet answer from the options given below:
1.Band D only
2. Cand E only
3. Aand C only

4.D and E only

Options :

4855842665. 1
4855842666. 2
4855842667. 3

4855842668. 4

Question Number : 567 Question Id : 485584667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




iR R a1l dlee & oy 98! Bl 31 gL

A, TR RR a7 dice 3 1 & Sy e &1 9 g1l o | _
B. QTR (&R aTc) aTee W a1 G1cl & Wl alee o R 1 QIR @l B Famifo & 3|
C. THR R a1 diee & RR @1 Aiek a16R 7¢ & 99 8 6

D, JEBRI 919 $1 w01 2d B (d=Tee BT AT 1)

E. TR RR a7 diee ¥ SfiaRe V-3 @1 981 5l

Hird fog Tt faeed 5 @ et S &1 = ffo
1. 990 B #RD
2. %ae C IR E
3. PaAAHRC
4. T D IRE

Options:

4855842665. 1
4855842666. 2
4855842667. 3

4855842668. 4

Question Number : 568 Question Id : 485584668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Identify the correct statements for Studs:

A. Stud 13 a permanent fastener.

B. A Stud has thread on one end and head at the other end.
C. Stud 1s a eylindrical body having threads at both ends.
D. A stud always has a cylindrical neck.

E. Stud 1s a headless bolt.

Choose the correet answer from the options given below:
1. A and B only

2. B and C only

I

.C and E only

faa

4. Aand D only

Options :

4855842669. 1
4855842670. 2
4855842671. 3

4855842672. 4

Question Number : 568 Question Id : 485584668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




we & oy ggt Byl &1 gegdii—u:
A TSUPH WIS 89T 5|
B. XS & Ud MW IS RGN RN Resglarel
C. %S U deHPR @8] § o gl R IR IS! gl g

D. % &8 § 9d 9016 R 1% Bl & |
E. %S U® RR [agH diee ¢

i< fau T fasedl # ¥ Fel SR &1 =5 fobfory -
1. %ad A IR B
2. HaAB R C
3.%dd C AR E
4. aA A 3RD

Options:

4855842669. 1
4855842670. 2
4855842671. 3

4855842672. 4

Question Number : 569 Question Id : 485584669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Identify the correct statements for a Flange joint:

A Flanges are made thinner than pipe walls for strength.

B. When the pressure nside the pipe is less, then the thickness of pipe wall is mnereased.

C. Flange Pipe Joints are used to carry liquids and gases.

D. Nuts and Bolts are used to make this joint leak proof.

E. For perfect alignment, faces of both flanges are machied at right angles to the axes of the pipes.

Choose the correet answer from the options given below:
1. Aand B only
2. Cand E only
3.Band D only

4.Dand E only

Options :

4855842673. 1
4855842674. 2
4855842675. 3
4855842676. 4

Question Number : 569 Question Id : 485584669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Telef Wil & fo7 Wel el 1 TG,

A, RIS 1 FOTgE WG %) TO10 W59 1 2] a1 e & G a4 g

B. 57 15U & SR TG B §Idl 6 1 U9 1 dfar] 31 AICTS agl ¢ o7l 81

C. TRi! TS0 W15 1 5a1 Ud 1%l 1 a1 Wl fo i &

D, 39 5G9 8 (fie ) 7 & forw el o e o el o S g

E. e SR 3 fo70 it o g1 Beieh! bl TSy ob 3fefl TR WHHION TR AIAIch R0 foh ol 8

#ird fou T fowedl & € 96! IR &1 90 fh i
| FATAHRB
2.7 C 4R E
3. 0B HR D
4.PTD IRE

Options:

4855842673. 1
4855842674. 2
4855842675. 3

4855842676. 4

Question Number : 570 Question Id : 485584670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match Last I wath List IT

LISTI LISTII
’ Per;pegm'e I. sed in mechanical engineering
Projection = =

B. |Oblique projection | II. Jused to draw multiple views

uzed by artists, professional designer

C. [Isometric projection| IIL :
: and architects

D Chrthographic . fused by mathematicians and furniturs
" lprojection ' Ela.nufacturers

Choose the correct answer from the options given below:
1. A-IV. B-1. C-II. D-III

CA-L B-IL C-III. D-IV

| ]

3. A-II. B-I. C-III. D-IV

4. A-IIL B-IV. C-1, D-II

Options:

4855842677. 1
4855842678. 2
4855842679. 3

4855842680. 4

Question Number : 570 Question Id : 485584670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Tt 1 1 ! 1 ¥ e Sifor

T 1 T I
URUE WU | L i i H Jed el gl
UaE AT | L [eg-exueaH A waad el 8l
GHCIRATUE YaH]| 11 [BereR | saam] [S9ER 3R ard/de aRl jgad [bd) o ¢
@ IUg aTE | IV. Fitras 3R Beiier gR1 9gdd (] Sl g

14 U e fowedl § 9§ 9! SR &1 944 fefor:

1. A-IV, B-I, C-IL. D-III

o| o] w| =

| BN

. A-L B-IL C-IIL D-IV

 A-IL B-L. CIL D-IV

L&)

4. A-IIIL B-IV, C-1. D-II

Options :

4855842677. 1
4855842678. 2
4855842679. 3
4855842680. 4

Question Number : 571 Question Id : 485584671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match List T with List IT as per the given figure:

LISTI
Isometric projection of LISTII
combination solids given below
A |Solid at Bottom. I |Vertical
B. [Solid on Top. II. Ecp_.u'lateral trnnenlay
[prism
C. |Axis of top sohid. II1. Honzontal
D. |Axis of bottom solid. IV. |Square pyramid

Choose the correct answer from the options given below:

1. A-IL. B-IV, C-I, D-III

| ]

CA-TV, B-IILL C-IT, D-I

CA-IILL B-IL C-IV, D-I

L]

4. A-L. B-IL. C-IIL. D-IV

Options:

4855842681. 1
4855842682. 2
4855842683. 3
4855842684. 4

Question Number : 571 Question Id : 485584671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

T 1T
A [ g I |F@EhRr
B. [ a1 319 1L [qHe1g AYySToR s
C.[FRad s a3 [ILjaks
D [Fuac3d&d Ay [[VjieRr s

Hid fau U fomed! | U 98l 3R &1 944 [hio ;

1. A-IL B-IV, C-I. D-III
2. A-TIV. B-II1. C-I1. D-1
3. A-IIL B-I1, C-IV, D-I
4. A-1. B-II, C-III. D-IV

Options :

4855842681. 1

4855842682. 2

4855842683. 3
4855842684. 4

Question Number : 572 Question Id : 485584672 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Match List T with List IT

(P =Pitch of thread. D = Theoretical depth and 'd’ = Actual depth)

LISTI LISTII
A |ID'inBS W thread I 061P
B. [d in Metric thread (Internal) II. D86 P
C. |d in Metric External thread I |09 P
D D in Metric thread IV. 054 P

Choose the correct answer from the options given below:

1. A-III. B-I. C-II. D-IV

2

CA-IIL B-IV., C-IL D-II

CA-L B-IOIL C-I1L D-IV

fad

4. A-II. B-IV, C-I. D-III

Options:

4855842685. 1
4855842686. 2
4855842687. 3

4855842688. 4

Question Number : 572 Question Id : 485584672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

a1 01 Al 11 ¥ A Siforn
(P =TS &1 09, D = STd® TeTs U4 'd' = Irdidd Teds)

A 1 T I
A RFugssg gels D | L peip
B. |sfiaRe difed gl H'pf I Jose P
C. Frditegsid D |OLjogsP
D. Hits =i d o IV Jos4 P

i< fou e faoedl H © gel 3R @1 =g fhfomn

1. A-IIL. B-I. C-II. D-IV

| ]

VAL B-IV. C-1, D-II

CA-L B-III. C-II. D-IV

L]

4. A-IL B-IV, C-I. D-III

Options:

4855842685. 1
4855842686. 2
4855842687. 3
4855842688. 4

Question Number : 573 Question Id : 485584673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match Last I wath List IT

LISTI LISTII
A Rivet I Cwlindrical rod having threads at both ends

and 15 a plain cvlinder in the centre

Threaded cylindrical rod with sguare neck

B. [Plain stud IL | :
in the central portion
c Stud with 11 Simple round rod having head at its one
" |zquare neck " lend
D. lcollar stud v Threaded cylindrical rod with collar in the

" |central portion

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

| ]

CA-IV, B-IIL C-I1, D-I

%]

CA-IL B-IIIL C-IV, D-I

ey

CA-IL B-L C-ILL D-IV

Options:

4855842689. 1
4855842690. 2
4855842691. 3

4855842692. 4

Question Number : 573 Question Id : 485584673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




It 1 1 i 11 e sifeu

A T 1
A [Rde L [d0-IaR &8 H &Ml IR R g2l 3R b H THdd aa
B. [cH ©8 1L [ H @®R =@ aid] S8R 88 (JolaR)
C. [@@R 7@ ae w3 | 1L [0 R | 58 ard) 91URV Td 36
D. [BIR ¥S IV. | & 41T H SieR & Ty U IS 1gdd So-IDR 95
I fou 0 fadedl § 9 gl 3R &1 904 fhiog:

1. A-I B-IL. C-IIL. D-IV

| B

CA-IV, B-I0IL C-IT, D-I

. A-IL B-III, C-IV. D-I

L8]

4. A-III, B-L. C-IL. D-IV

Options :

4855842689. 1
4855842690. 2
4855842691. 3
4855842692. 4

Question Number : 574 Question Id : 485584674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match Last I wath List IT

LISTI LISTII
Parts of Sleeve and cotter joint Function
For the insertion of cotters at
A |Tapering of the cotter I Iiight angle to the axes of the
ods
B Ends of two rods are I 5o that cotters are
" [chamfered " lautomatically adjusted

To avoid burring and easy
III. hnsertion i the hollow steel
slesve

. |A hollow sleeve has two
C:
rectangular holes

The extra margin given for
D. fthe clearance in the rods and | IV | 1:30
slesve

Choose the correct answer from the options given below:

1. A-I. B-IL. C-III. D-IV

| )

CA-IL B-IL C-IV, B-III

CA-IV, B-IIIL, C-1, D-II

(%]

o

- A-IIL B-1ILL C-IV, D-I

Options:

4855842693. 1
4855842694, 2
4855842695. 3
4855842696. 4

Question Number : 574 Question Id : 485584674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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1. A-L. B-IL C-IIL D-IV
2. A-IL B-L, C-IV, B-III
3. AV BHIIL C-L D-II

4. AJIL B-IL C-IV. D-I

Options:

4855842693. 1
4855842694, 2
4855842695. 3
4855842696. 4

Question Number : 575 Question Id : 485584675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match Last I wath List IT

LISTI LISTII
{(Name of Machine Part) (Material)
A |Gaskeat I. |Gun Metal
B. |Gib II. |Cast Iron
C. [Bush IIT. piald Sieel
D. |Body of Bearing IV. [Rubber

Choose the correct answer from the options given below:
1. A-IV, B-III, C-1. D-II
2. A-I. B-II. C-IIL. D-IV

AL B-IV, C-II, D-I

LIFY]

4. A-II. B-L, C-IV, D-III

Options:

4855842697. 1
4855842698. 2
4855842699. 3

4855842700. 4

Question Number : 575 Question Id : 485584675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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1. A-IV. B-IIL C-I, D-II

of o =]

| B}

CA-L B-I1L C-IILL D-IV

AL B-IV. C-I1, D-I

L

4. A-IL. B-I. C-IV, D-III

Options :

4855842697. 1
4855842698. 2
4855842699. 3
4855842700. 4

Sub-Section Number : 2
Sub-Section Id : 485584233
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 576 Question Id : 485584676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Prarit 1 a Youtube vlogger and 1s very much fond of travelling, During one of his trekking tour, he stayed in a
tent as shown 1n the figure. The lower cylindrical part of the tent 1s 2 meter high and upper conical part 15 1
meter high. Diameter of the carpet on its floor 15 2 meter. Ignoring the thickness of the tent and flag on the top.
answer the followmg question.

Total 1sometric height (approximately) of the tent m its 1sometric projection is

1. 100 mm

[ ]

. 240 mm
3. 200 mm

4. 300 mm

Options:

4855842701. 1
4855842702. 2
4855842703. 3

4855842704. 4

Question Number : 576 Question Id : 485584676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension Comp1
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1. 100 firo o
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3. 200 fiyo Ho
4. 300 o Hio

Options:

4855842701. 1
4855842702. 2
4855842703. 3

4855842704. 4

Question Number : 577 Question Id : 485584677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension Comp1

Prarit 1 a Youtube vlogger and 1s very much fond of travelling, During one of his trekking tour, he stayed in a
tent as shown 1n the figure. The lower cylindrical part of the tent 1s 2 meter high and upper conical part is 1
meter high. Diameter of the carpet on its floor 15 2 meter. Ignoring the thickness of the tent and flag on the top.
answer the following question.

In the 1sometric projection of the tent. its carpet will be drawn as
1. Circle
2. Sphere
3. Ellipse

4. Semicirele

Options:

4855842705. 1
4855842706. 2
4855842707. 3
4855842708. 4

Question Number : 577 Question Id : 485584677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension Comp1
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3. ddaa
4. J&ad

Options:

4855842705. 1
4855842706. 2
4855842707. 3

4855842708. 4

Question Number : 578 Question Id : 485584678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

Prarit 1s a Youtube vlogger and is very much fond of travelling. During one of his trekking tour, he stayed n a
tent as shown in the figure. The lower cylindrical part of the tent is 2 meter high and upper conical part is 1
meter high. Diameter of the carpet on its floor 15 2 meter. Ignoring the thickness of the tent and flag on the top.
answer the following question.

The correct statement about the common axis of the tent 1s:
1. it 1s perpendicular to H.P.
2. 1t 1s perpendicular to V.P.
3. it is parallel to H.P.

4. it 1s parallel to both H.P. and V.P.

Options :

4855842709. 1
4855842710. 2
4855842711.3

4855842712. 4

Question Number : 578 Question Id : 485584678 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

VIRE, U Jeq8 TR & U1 9131 3 gl e o 31T T CfehT] €% o G, T U@ o A 661, o
o5 o e e R e 1 P SR 4 2 e S € SR R W SR T 4 1
HeR 71 8| 590 BX) & PIei o1 0 2 Hex 3| 31 1 Hers 3R 61 ] 7 I el X U,
A feu U vl o SR o

T & HE-3He & gra 1 el BY 6:
1. g8 T 4l & dEgad g
2. U8 o1t & @ad ol
3. T8 TE.U & YOG B
4. 98 ta.4 iR &t f & gaHOR
Options:
4855842709, 1
4855842710. 2

4855842711.3

4855842712. 4



Question Number : 579 Question Id : 485584679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

Prarit 1 a Youtube vlogger and 1s very much fond of travelling, During one of his trekking tour, he stayed in a
tent as shown 1n the figure. The lower cylindrical part of the tent 1s 2 meter high and upper conical part is 1
meter high. Diameter of the carpet on its floor 15 2 meter. Ignoring the thickness of the tent and flag on the top.
answer the following question.

For drawing the 1sometric projection of the tent, we need a special scale known as

1. tull scale
2. 1sometric scale
3. enlarged Scale
4. vernier scale

Options:

4855842713. 1

4855842714. 2

4855842715. 3

4855842716. 4




Question Number : 579 Question Id : 485584679 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options:
4855842713. 1
4855842714. 2




4855842715. 3

4855842716. 4

Question Number : 580 Question Id : 485584680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

Prarit 1s a Youtube vlogger and is very much fond of travelling. During one of his trekking tour, he stayed n a
tent as shown in the figure. The lower cylindrical part of the tent is 2 meter high and upper conical part is 1
meter high. Diameter of the carpet on its floor 15 2 meter. Ignoring the thickness of the tent and flag on the top.
answer the following question.

If we mvert the tent upside down, so that whole tent 1s now resting on its apex on ground (H.P.), Then the true
height of the tent will be equal to

1. 300 mm
2. 100 mm
3.200 mm
4. 240 mm

Options:

4855842717.1



4855842718. 2
4855842719. 3

4855842720. 4

Question Number : 580 Question Id : 485584680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

VIRE, U Jeq8 TR & U1 9131 3 gl e o 31T T CfehT] €% o G, T U@ o A 661, o
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A feu U vl o SR o

i

T B T FR A A (@) W & a1 [ g 8 T R o S e, | g o
G 85 S R Uil
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Options:

4855842717. 1
4855842718. 2
4855842719. 3

4855842720. 4

Sub-Section Number : 3
Sub-Section Id : 485584234
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 581 Question Id : 485584681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




An Engmeering Graphics teacher takes the students to the lab and shows the model of a Turnbuckle assembly.
Then he asks students to draw the orthographic projection of the assembly as shown in the figure. Based on
the figure, answer the followng question.
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18 the minor diameter of the Rods.
1. 20 mm
2. 25 mm
3.16 mm
4. 22 mm
Options:
4855842721. 1
4855842722. 2

4855842723. 3
4855842724. 4



Question Number : 581 Question Id : 485584681 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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.25 Yo Tto

3. 16 fHo Hio

4. 22 fHo Hto
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Options :

4855842721. 1
4855842722 2
4855842723. 3

4855842724. 4

Question Number : 582 Question Id : 485584682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




An Engmeering Graphics teacher takes the students to the lab and shows the model of a Turnbuckle assembly.
Then he asks students to draw the orthographic projection of the assembly as shown in the figure. Based on
the figure, answer the followng question.
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The maximum diameter of body 13 mm.

1. 20
2. 150
3.30
4. 60

Options :

4855842725. 1
4855842726. 2
4855842727. 3
4855842728. 4



Question Number : 582 Question Id : 485584682 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Options:

4855842725. 1
4855842726. 2
4855842727.3
4855842728. 4

Question Number : 583 Question Id : 485584683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




An Engmeering Graphics teacher takes the students to the lab and shows the model of a Turnbuckle assembly.
Then he asks students to draw the orthographic projection of the assembly as shown in the figure. Based on
the figure, answer the followng question.

i 1ay 65 N W sl 85 .15
[ o
| 35 ‘1_0,4 13 35
bffff,_w i
[ —!-—— } 4 | ———;- —_
S S Y e R L __@ g
%—“—'—-— S E
ity oo IR, oy o= gt !
M 20 RH \—I 1_
FRONT \/IEW
STV 1T e [ A____._.% :
Y W N = . e :
i ~ [waw
¥
TDP“\FIE‘!E
TURNEUCKLE

Number of distinet parts in the turnbuckle assembly:

1.3
2.4
3.2
4.6

Options :

4855842729. 1

4855842730. 2

4855842731. 3
4855842732. 4



Question Number : 583 Question Id : 485584683 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Options:

4855842729. 1
4855842730. 2
4855842731.3
4855842732. 4

Question Number : 584 Question Id : 485584684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




An Engmeering Graphics teacher takes the students to the lab and shows the model of a Turnbuckle assembly.
Then he asks students to draw the orthographic projection of the assembly as shown in the figure. Based on
the figure, answer the followng question.
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According to the figure, which kind of threads are present on the Rods?
1. Both has RH threads
2. Both has LH threads
3. RH thread on right side rod and LH thread on left side rod
4. RH thread on left side rod and LH thread on right side rod
Options :
4855842733. 1
4855842734. 2

4855842735. 3
4855842736. 4



Question Number : 584 Question Id : 485584684 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Options:

4855842733. 1
4855842734. 2
4855842735.3
4855842736. 4

Question Number : 585 Question Id : 485584685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




An Engmeering Graphics teacher takes the students to the lab and shows the model of a Turnbuckle assembly.
Then he asks students to draw the orthographic projection of the assembly as shown in the figure. Based on
the figure, answer the followng question.
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Type of tront view shown i the figure 1s

1. full sectional front view

2. front view without section

3. tront view upper half mn section

4. front view lower half mn section

Options:

4855842737. 1
4855842738. 2
4855842739. 3
4855842740. 4
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Instruction Time : 0
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Question Key Details :

Key Value

Comprehension Comp2
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Options :
4855842737. 1
4855842738. 2

4855842739. 3
4855842740. 4
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